Question 1
Question text
A survey by statistician says that this percent of firms are already using Al
Select one:
a. 51%
b. 71%
. 91%
d. 21%
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Question 2
Question text
How can the AlI/ML models be flawed/unfair?

Select one:

a. Rigorous and cross-functional training and testing it is a challenge to ensure that a system
will be fair across all situations.

b. All of the above

c. ML models learn from existing data and pre-existing biases in the data based on race, gender,
religion or other characteristics.

i

© d. There is no standard definition of fairness.

Question 3

Question text

What are the key concerns of Al policy making in India?

Select one:
a. Re-thinking Intellectual Property Regimes
b. Ensure adequate government funding and investment in R&amp;D
c. All of the above

D INES TS B |

d. National infrastructure to support domestic development



